Name________________________
2.1 Where is the World’s population distributed?
A. Population Concentrations
a. 2/3rds of people are____________________________________________________________________
b. Most of the people_____________________________________________________________________
c. The 4 population clusters________________________________________________________________
d. The region, bordering___________________________________________________________________ _____________________________________________________________________________________
e. 5/6ths________________________________________________________________________________
f. The Chinese ___________________________________________________________________________
g. More than 1/3rd________________________________________________________________________ _____________________________________________________________________________________
h. Another 1/5th _________________________________________________________________________ _____________________________________________________________________________________
i. India, the world’s_______________________________________________________________________
j. Like the Chinese________________________________________________________________________
k. A half billion___________________________________________________________________________
l. Indonesia, which consists________________________________________________________________
m. Like China/South Asia___________________________________________________________________
n. The 3 Asian____________________________________________________________________________ _____________________________________________________________________________________
o. Combining____________________________________________________________________________ _____________________________________________________________________________________
p. The highest concentration________________________________________________________________ _____________________________________________________________________________________
q. Instead, they __________________________________________________________________________
r. The largest population___________________________________________________________________
s. Another 2 % __________________________________________________________________________
B. Sparsely Populated regions
a. Human beings_________________________________________________________________________
b. Areas too dry __________________________________________________________________________
c. The combination of rain_________________________________________________________________
d. Consequently, _________________________________________________________________________
e. People may prefer to occupy_____________________________________________________________
C. Population Density
a. The result shows_______________________________________________________________________
b. Arithmetic density varies_________________________________________________________________
c. Land suitable__________________________________________________________________________
d. This large difference____________________________________________________________________ _____________________________________________________________________________________
e. Comparing physiological_________________________________________________________________
f. MDCs have lower ______________________________________________________________________
g. Geographers conclude__________________________________________________________________ ____________________________________________________________________________________

Name____________________________
2.2 Where has the World’s population increased?
A. Natural Increase
a. About 80_____________________________________________________________________________
b. Very small____________________________________________________________________________
c. Should the same_______________________________________________________________________ ____________________________________________________________________________________
d. The NIR exceeds________________________________________________________________________ _____________________________________________________________________________________
e. Regional differences____________________________________________________________________ _____________________________________________________________________________________
B. Fertility
a. As was the case________________________________________________________________________ _____________________________________________________________________________________
b. Therefore,____________________________________________________________________________ _____________________________________________________________________________________
c. The TFR for the world___________________________________________________________________ _____________________________________________________________________________________
C. Mortality
a. The global distribution___________________________________________________________________
b. In general ____________________________________________________________________________ _____________________________________________________________________________________
c. African Americans______________________________________________________________________ ____________________________________________________________________________________
d. Babies born___________________________________________________________________________ _____________________________________________________________________________________
e. The combined crude____________________________________________________________________ _____________________________________________________________________________________
